VALUATION METHODS

Adjusted Asset Value or Adjusted Book Value
Net Worth of Business (Calculated using adjusted value of assets minus liabilities)




Book Value


Fair Market Value

Inventory


$250,000


$400,000

Plant & Equipment
$150,000


$400,000

Other Intangibles

$  30,000


$  60,000

Number of shares of Common Stock


100,000

Discount rate on future earnings:


24 percent

Price/earnings multiple:




9

Estimated earnings over the next five years:


Year 1
$200,000


Year 2
  300,000


Year 3
  400,000


Year 4
  500,000


Year 5
  600,000

Multiple of Earnings

Net Income capitalized using a price/earnings ratio

15% capitalization rate often used:  1/.15 = 6.7

High-growth capitalization rate (5% which is a multiple of 20)

Stable capitalization rate (10% is a multiple of 10)

Price/Earnings ratio  (P/E)

Price of common stock divided by after-tax earnings

Discounted Earnings Method

Attempts to establish future earning power in current dollars (calculates present value using a discounted rate)
Liquidation Value

Reflects ‘bottom’ value of a firm

Factor Approach

· Earnings

· Dividend-paying capacity

· Book Value
Approach (000s)

Capitalized Value

Weight
Wt Value

Earnings:  $40 x 10

$400


    0.4

    $160

Dividends: $15 x 20

$300


    0.4

    $120

Book Value: $600 x 0.4

$240


    0.2

    $  48

Average  $328

10% discount $33

Per share value   $295
General Valuation Method

VC ownership position (%) = VC $ investment    X   VC investment mult  desired  

      Firm’s Proj Profits in 5 yrs  X  Price earnings

 Multiple Of comparable firm

Funding Requirement:



$500,000
Profit Projection in Yr 5



$650,000

VC investment multiple desired



5 times

Price-earnings multiple of similar company
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$500,000  X  5     =   32%

$650,000  X 12

Another Alternative:

Present Value  =  
Future valuation



   (1 + i)n
Investor’s share  =  Initial funding



 Present Value

Funding Requirement:


$   800,000
Profit Projection in Yr 5


$1,000,000 on sales of $10,000,000

VC investment multiple desired

        50% compound ROI

Multiple of similar company

        15

Present Values  =  $1,000,000 x 15     =  $1,975,000

(1 + 0.50)5
Investor’s share =  $800,000      =   41%

                              $1,975,000
